A WS#HI
M sz =Y
ool uESd

3 Al

SN CR(EH) - NRAY - BES

ol

20
B
2

DS 11,295,327 10,369,604 925,723
=l 322,000
= 254,314
Al 10,719,013
DEDR(+LLYDE/WEDE - 2BEIIE) 11,163,205 10,241,273 921,932
=l 322,000
= 254,314
Al 10,586,891
nEHH 278,760 102,425 176,335
nEAL 278,760 102,425 176,335
201 Yereg| 228,760 82,425 146,335
01 AtR2elt| 228,760 82,425 146,335
OMQUSAISEALHE AR RS & a4
70,0008 * 9% * 23] 1,260
OBHSAWLARS &Ha4
70,0008 * 6% * 23] 840
ONSUHMHHARS &Ha4Y
70,0008 * 8 * 23] 1,120
ONSoHY E22 oM, 49 &
100,000 * 3% * 33| 900
OHA EA0IS YFAZUE B2 224,640
—~HHBA 22y
100,000 * 60CH * 128 * 70/100 50,400
—siAl 22| 30,0008 * 484CH * 122 174,240
207 ALl 20,000 20,000 0
01 HRgY| 20,000 20,000 0
ONZHERSII=ZHE 8
20,000,008 * 14! 20,000
402 Q12X 0|H 30,000 0 30,000
01 UARZRE 30,000 0 30,000
OMAHTIOIS(RA LIS BSO8R 7
o 30,000,008 * 1CH 30,000
SArY e 8,205,639 7,844,645 360,994
= 254,314
Al 7,951,325
24N 2N 6, 174,889 5,964,865 210,024
307 2120l H 6, 174,889 5,964,865 210,024
09 24ANBES 6,174,889 5,964,865 210,024
OREIICAE 201 X2 (HASAII=0I
S«atoloy) 3,600,000 * 35% * 1002 126,000
ORNEF}CAMBE £48 XA (22230l
SE«XAE) 4,500,000,0008 * 35% * 1.5% 23,625
ONSIHICELREHS XA (HASAIIS0ISS
B2 D,600,0008 * 3% « 158 + 5002 151,200




SN DEHHD
M nsZe(+sLnsS/Hsns - 2FSIIE)
ol 2SAY 2l (98
- _ _ ME
SN HRA(EA) - NRAY - BES Off 4k 04 Ofl At ot HluSZ
OLSIE HUEx==z XNE(10HE 1,500 X
&) 50004 = 1,500& * 12& 9,000
O2=Ag A FIHEXE2 5,865,064
—HA 368.46& * 2,200,000 £ 810,612
—EAl 36.42% = 4,500,000 ¢ 163,890
—3= 334.97& * 14,600,000 £ 4,890,562
=2 -odatel 1,452,400 1,451,892 508
101 1A 8,400 7,892 508
04 JIZtHZZ2NSES 8,400 7,892 508
OAlUH A WSS XZAF 218 8,400
—Hl=2 =M 35,0003 » 40¥ = 5 7,000
PN 35,0008 = 8H = 5& 1,400
307 2lztold 1,444,000 1,444,000 0
09 2=HAHAEXS 1,444,000 1,444,000 0
Ol &l ez
,444,000,000& * 12Xl 1,444,000
DHLSMAHAAS(Z) 6,000 0 6,000
= 1,200
Al 4,800
301 LetEd= 6,000 0 6,000
S 1,200
Al 4,800
07 22+HI=2| 0] 6,000 0 6,000
OZE=2HSAANA S
3,000,000& * 2% * 13 6,000
= 1,200
Al 4,800
HILCHEAEA3(T) 115,702 94,752 20,950
= 32,468
Al 83,234
307 elztold 115,702 94,752 20,950
& 32,468
Al 83,234
09 2+gAHAELS 115,702 94,752 20,950
Ot s4243(2Y)
115,702,000% = 14 115,702
s 32,468
Al 83,234
NHLsHEHA2SAMEHEX R (Z) 341,734 323,136 18,598
= 170,867
Al 170,867
307 2rztold 341,734 323,136 18,598
= 170,867
Al 170,867




PN nSHAD
HH: nE2e (3L WE/HENE - 2F7SIIH)
SRl SEAE 2el (el &)
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
09 2+EAE2LS 341,734 323, 136 18,598
OAU & sHEHA 2EAY HEXR(2H)
341,734,000& * 14 341,734
= 170,867
Al 170,867
ALEHAS LI EZXLEXHIXR(E) 38,390 0 38,390
= 11,517
Al 26,873
307 GI2t0I A 38,390 0 38,390
= 11,517
Al 26,873
09 2+HAHAELS 38,390 0 38,390
OAMSSHAGAISE I A X H XIS
110,000& = 349CH 38,390
= 11,517
Al 26,873
SHESZHARUXRA(E) 76,524 0 76,524
= 38,262
Al 38,262
307 212to1& 76,524 0 76,524
= 38,262
Al 38,262
09 2+HAHAEXLS 76,524 0 76,524
OsHESIHARUX R (2A)
76,524,000& * 14 76,524
& 38,262
Al 38,262
WSAE SZEH 2,641,124 2,267,171 373,953
= 322,000
Al 2,319,124
wWSAES 2el 1,700,583 1,742,915 N42,332
201 LEH2HH| 77,580 66,600 10,980
01 AtE22|H] 1,680 0 1,680
OusSHEAId=E X0 CE AIZEER e
EEE) 70,000& 3| 1,680
02 =234l 75,900 66,600 9,300
Otlss HIIR=s 5,000,000& = 128 60,000
ONeol2sx4 CCTV &Iz
65,0003 *» 1304 * 123 10, 140
O0EoI2s 3% CCTV 2HY AIE=
30,000 * 16IHA * 128 5,760
206 M=l 30,550 30,550 0
01 M= dl 30,550 30,550 0
OHAE HAIFXAIZ 5,550




SN DEBHD
o DS (+ELDS/HELS - 2RSIIE)
ol DEAA A (el &2
SH-EH . C(BH) - NRAY - BES 0 Ak o4 ﬁg;ﬁ; bRz
—EXIOI EXE &3
150,0002! * 794 * 33| 3,150
—Z=qtetel A3 M2 80,0002 * 33l 2,400
OOIBX 2HED 7Y 22,0002 * 50004 11,000
OLQESHSS 98 OFENZO0 7Y
7,000 * 2,000 14,000
207 1oty 25,000 0 25,000
NR=EEET 25,000 0 25,000
OFXE +ZHHEA 8
25,000,008 * 14} 25,000
401 AIEHIL2CH] 1,367,453 1,345,765 21,688
01 Al 1,359,790 1,336,850 22,940
ONSTZA S UBHA £F
700,0002 * 537 4 37,100
SEI=E NPT 5,000,008 * 304 15,000
OMSHOII R 9,000,000 * 374 27,000
OL3Holg S DM 25,000,000 * 202 50,000
OGPS?I & Al 2] 500,0002 * 10JH 5,000
ORSREOAIZEAID Als
80,0002 * 10744 8,000
OA2ABOAESEASI| A&
90,0002 * 10744 9,000
ORENBI FRS TM4 U 22|(|A22I)
390,000% * 7674 D2 29,640
OLBIEX HEM Fy| 563,000
— G AIDIX 275,500
S 30% 2,508 * 57,000 142,500
CHOIE 70% 5002 * 133,000n * 23l 133,000
—ZI|AIDHX 72,500
- B 30% 2,500 * 15,000 37,500
FHOIE 70% 50021 * 35,000n * 23] 35,000
—gx ez 35,000
S 30% 2,5002! * 10,000m 25,000
L HOIE 70% 500! * 10,000n * 23] 10,000
—CHEX AT24 40,000
S 30% 2,500 * 10,000 25,000
CHOIE 70% 5002 * 30,000 15,000
— SR (2]) 4,008 * 10,000m 40,000
~-72 2%, NE, s0EER
50021 * 200,000 100,000
OO0F2F 23 EXT A& 5,000,008 * 6)H4 30,000
ORSAHEXE A& 50,0002 * 600JM 90,000
ODSAHEXE DA, 0L, XA
100,0002! * 3007H 30,000
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SN DEHHY
Hm: DS (+5LDE/HELS - 2RSIIE)
o9l DEAE BAIH (25l &2
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 Gil it o Rz
OO0l 257 W& 22,050
—QMTE T
40,0009 * 30m * =3.5m * 3L 12,600
—DINEYX AL H%
30,0002 * 30m * Z3.5m * 34 9,450
ONSAFMAIL AALHH (HRI0IZSTAALR
s) 10,000,002 * 14} 10,000
OMA 52 & 200,000
—SAE HASZF  10,000,0008 * 100K 100,000
=& HWASZF 10,000,008 * 10042 100,000
OAS2E BA 5,000,008 * 5744 25,000
OUERSAES FHI(HA L HASSE F
Hl) 300,0008 * 307H 2 9,000
OBZEEINT Z&TA 200,000,000 * 14 200,000
03 Al&=CH| 7,663 8,915 A1,252
ODNSYXA S UBHHA X7
37,100,0002! * 14! + 0.90/100 334
OFRBES A& 15,000,008 * 141 * 1.08/100 162
OXNSHOI LH
27,000,0002! * 14! + 0.90/100 243
o=s3olg S nA
50,000,000 * 141 + 0.72/100 360
OESTROIAIRE EAD| A4
8,000,000 * 141 * 0.90/100 72
OAZHAE SHAUSI| Aa
9,000,000%! * 14! * 0.90/100 81
ONSHBEI|, RS T U 22
29,640,0002! * 1Al + 1.08/100 321
OLPITEAl T A
423,000,002 * 141 * 0.63/100 2,665
OO0F2F 23 EX T A&
30,000,00020 * 1A « 1.08/100 324
ONSAMEXNT A
90,000,0002! * 1! + 0.90/100 810
ORSHFEXT A, Ol&, KA
30,000,000 * 1A + 1.08/100 324
OolRoIEE T R
22,050,002 * 1Al + 0.72/100 159
OHAz2d &x
200,000,0008 * 1A * 0.72/100 1,440
OAZ2E A
25,000,0002! * 1A + 1.08/100 270
OUERENEES F|
9,000,000% * 141 + 1.08/100 %8
402 RI2AX 20 200,000 300,000 £100,000
01 QIARZRE 200,000 300,000 100,000




SN RESHD
M nsZe(+sLnsS/Hsns - 2FSIIE)
Rl WSAIE 3 EH (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
OWHE=XEHII ALZHl XI&
2,000,000& = 100& 200,000
WSEAN =8 296,541 194,256 102,285
101 Q1] 64,338 65,213 A875
04 JIZAHZ2NHSE= 64,338 65,213 A875
O=sY = 3x o508 57,138
—QIR(LE) 35,0008 * 53 = 230 40,250
—F5=d 35,000& * 5% * 48=F 8,400
—EX=g 35,000&  5&  11& 1,925
— AR DR AT (0F2FES)
6,563% * 5& * 2A12F = 100& 6,563
O=2Y . FXts AR I=H(LEN) 7,200
—get= 200,000& = 5& * 1& 1,000
- = 150,000% * 5 * 2% 1,500
—o = 150,000% * 5 » 2= 1,500
—&EF= 150,000& = 5& = 2% 1,500
—-& g 100,000& = 5& = 2% 1,000
-2 9 20,0003 » 5% * 2% 200
—2&3 30,0003 » 5% x 2% 300
-2 X 20,000& » 5% x 2% 200
201 Y2 Y| 51,303 47,543 3,760
01 AtS2t2iHl 23,353 21,993 1,360
O=H =.dxtts Aaely 10,300
—==EX 100& * 3,0000H 300
—FIBAA S XA 100& = 15,0000H 1,500
— A& S KA 100& = 15,0000H 1,500
—=R10XA 1002 = 15,0000H 1,500
—==(HE)2XA 100& * 50,0000H 5,000
—2FSAA 100& * 5,0000H 500
O=2Y . Fxdx AR I=H(E3AA) 4,000
—get= 200,000& = 5& * 1& 1,000
- = 150,000% * 5 * 1& 750
—ot = 150,000% * 5 » 1& 750
—&EF= 150,000& = 5& = 1& 750
—-= & 50,000& » 5% » 1& 250
-2 9 20,0003 » 5% * 2% 200
—2&3 30,0003 » 5% x 1% 150
-2 X 15,0008 » 5& 2% 150
O=8 = . 3XHEE =4
5,000& = 2& = 100 1,000
OsY = 23X 23 E4 7 (4=a)
500,000& = 23 1,000




PN nSHAD
F: D2 (+SLNE/UHENE - ERSIIE)
&2l WEAE S EH (&=l & )
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OuszEA Ax 6,400
- 60,000& * 5Ji * 33| 900
-2 & o 5,000& = 1004 500
—F8X2X EE HE
100& * 35 = 5,0000H 1,500
—FEXNESAS 2o Y
35,000& * 10094 3,500
OSYFEXLS AU ZH(SLEAMEFX
Ets) 653
—St&X F 10,000& = 12& 120
—HALES 10,000& * 3& * 12& 360
—MYIIESF(501) 7203 * 20& « 128 173
=323l 27,950 25,550 2,400
OSYHFTI Rolths AJAE(CCTV) HIIALE
= 100,000& = 14l = 12& 1,200
OSYHFTI Rolctx AJAE(CCTV) SAAE
=3 500,000& * 14l = 12& 6,000
O=8=&i oL Jthiet RAE+ 4,200
— DA CCTV 100,000& * 2IHA * 123 2,400
—0ls4! CCTV 150,000& = 1CH * 128 1,800
O=F&xtztel CXEstict € &I || 1,450
—REI(HHE) 50,000& * 5CH * 13 250
— I (HAE) 50,000& * 20CH * 13 1,000
—CXIE2tne 50,000& * 408 = 13 200
ORHYX Itae ATz 18R
250,000& = 122 3,000
OSREX Xtg A Zdl Xt
30,000& * 100CH 3,000
O=2Y . dXNtHs & SHEX & 28D
AN RER=S 9,100
—SIIRH BER=
1,500& * 2004 = 12& 3,600
—SEES 23 250& = 1,00024 » 12& 3,000
— Mg dRHAHE I ELEE 2F
2502 = 5,000 * 23l 2,500
202 O4Hl 900 1,500 A600
01 =Wl 900 1,500 A 600
OSRHUIIE AMASI(USXH)
30,000& * 18 * 302l 900
307 QI2t0IA 80,000 80,000 0
05 BIZtRE = 80,000 80,000 0
OGFAAUHAAN 2HEXS
80,000,000& * 1JH= 80,000
401 Al&HI LS04I 100,000 0 100,000




SN DEHZY
ol NEe(4+5LDE/UHELS - 2RSIIEH
o9l DEAE BAIH (25l &2
_ _ _ Muo
SA-BH.C(BH) - HRAY - B Ofl &t o il i~ o Rz
01 Al&| 100,000 0 100,000
OBY = Hx RASHAIAH(CCTV)EX
50,000,000 * 2244 100,000
VHNEEEEPTIE)) 644,000 330,000 314,000
=l 322,000
Al 322,000
401 AEHI2L S0 644,000 330,000 314,000
= 322,000
Al 322,000
01 Al&l 639, 770 327,624 312,146
ORISR ALSHLAY
580,000,000 * 14! * 99.37/100 576,346
=l 290,000
Al 286,346
OO0lRI012 52 CCTV & X
64,000,0008 * 141 * 99.10/100 63,424
= 32,000
Al 31,424
03 Al&=OHH] 4,230 2,376 1,854
OORI0I 2SR ASSHLAY
580,000,0002! * 141 * 0.63/100 3,654
OORI0I2E 72 CCTV & X
64,000,0008 * 14 * 0.90/100 576
rgs=we 37,682 27,032 10,650
NEEIEEp b EE] 37,682 27,032 10,650
201 Yer2 Y| 36,482 27,032 9,450
01 A2l 18,632 9,182 9,450
OAZ SIANA 01 7,720
~NESASSE M
602! * 3% + 15,00004 2,700
—XSIFINZA 2 S A
402 * 23 = 10,0000H 800
~MEXNHADBE oMY AN
409 = 2 * 10,0000 800
~NEANSSHE VEH2LDIAA
309 * 105 * 6,0000H 1,800
—ALIHSE 2@ NA
6021 * 9 * 3,00004 1,620
ONTS=HD =YY ARSSH| 1,912
—SAEX 7Y (M)
13,0008 * 22t A + 128 312
—DRIEEH(SY) 200,002 * 20 * 23] 800
—DRIEEU(Ze) 200,002 * 104 * 33 600
—zoi=e| Lal| 200,0002 * 1CH 200
ORBH2HNSH AASHT2I 7Y
9,000,0008 * 14! 9,000
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SN DEHZY
Mz DS (+5LDE/HERS - ERSIIE)
ool RPS=we (25l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
02 BB 17,850 17,850 0
ORBR3 17,850
—g2DXA 2 65 SIIRERS
1,75020 * 60021 * 122 12,600
SR8 523
1,750 * 25021 * 122 5,250
202 Oft] 1,200 0 1,200
01 =2UH0iHI 1,200 0 1,200
ORBE2Y SAY S2ETY|
40,0002 * 1% * 303l 1,200
HZE AL (RSB D) (JIEHIIE) 132,122 128,331 3,791
o1z 2| 23,546 21,966 1,580
ol 2| 23,546 21,966 1,580
101 2124l 23,546 21,966 1,580
03 RINHA2E X4 23,546 21,966 1,580
O F ¥i0s A48 B 23,546
—Jles 40,0009 * 1% * 2492 9,960
—&0i2
(40,0002 /8AI2F) * 200AI2 + 43I * 100% 4,180
—YEEII)
(40,0002 /8AI2t) * 200A12F + 28| * 75% 1,568
—E4g 1,200
B X 40,0009 * 1% « 128 480
Il E 20,0008 * 3% * 122 720
—ARteI2R4Y
75002 * 1% « 15A12 = 128 1,350
—2&otaag
10,0008 * 3& « 1% « 128 360
—FE4Y 40,0009 * 1% * 52% 2,080
-R382+¢ 40,0009 * 1% * 122 480
—RRIENLY 40,0008 * 12 * 162 640
— 2| 10,0008 * 1% * 122 1,200
— DSy 44,0008 = 1% « 128 528
R 108,576 106,365 2,211
2 108,576 106,365 2,211
201 Yer2 ) 22,116 19,905 2,211
01 At 22,116 19,905 2,211
OJI=8 ARSEY| 3,276
—ZAMEX TYHI(M)
13,0009 * 21%tA « 128 3,276
OS2 HalHl 50009 * 64 « 21% « 128 7,560




SN DEHFD
HH: HAH2AAH(nSHEEL)(JIEH/DIIE)
&t JI=3l
S HE - S(EH) - NRAY - BES 01l &k o S
0f 4 o
Ogit &2 100,000& = 12& 1,200
OLE EM7HI 50,000& * 12& 600
OL7a2 =&Hl 8,220
—= Al =2l 1,000,000 * 1.5CH 1,500
—ZelHI| el 100,000& = 4CH = 50/100 200
—SAI EH 200,000& = 53| « 1.504 1,500
—DEHI(EY) EU
200,000& = 53| = 4CH 4,000
—PC==2l 100,000& = 21CH * 20/100 420
—JI&t Edl==cl 50,000& * 12& 600
OJIEt AR ESHI 5,000& » 218 * 12& 1,260
202 O4Hl 81,060 81,060
01 =Wl 81,060 81,060
Ousadzdgin 28 oyl 81,060
— 2o bl 20,000 * 21 » 122 = 128 60,480
— 224 dl 70,000& » 218 * 144 20,580
203 ¥R =&l 4,200 4,200
04 BEABIHFFEHI 4,200 4,200
ORN2IHRFAHI 350,000& = 12& 4,200
204 ARHAH| 1,200 1,200
01 MG PR HH| 1,200 1,200
OXMS PR AH (WS NE)
100,000& = 1 * 128 1,200
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